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QCD Pile up sample:

/QCD_Pt_15t03000 TuneZ2 Flat 7TeV_pythia6/Spring11-
E7TeV_FlatDist10_2011EarlyData_50ns START311_V1G1-
v1/GEN-SIM-RECODEBUG

Runin3_11_2

AK5 Calojets
With same event selection as in analysis



[ 250 < Mass {GeV) < 250 |

F1a [Entries 286430

=
012

oa

0.04

0.02

i

| PP P B
a b 1z 14 18
x-ﬂpklrl-r:I‘I-

]

ha|
i
(=]

[ 850 < Mass {GeV) < 850 |

5.14

=
-h.12

| Entries 198881

LN |

0.08

0.04

0.02

NN T LR
II“PElrI'I:l]F

ha|
'
(=]

[ 1400 = Mass (GeV) = 1800 |

R | Entries 75930

=
-8.12

[iR |

|

0.04

0.02

PRI NEATEN ETEET EETET S ST A SN B
FI g @ 10 1z 14 1B
x-mpklr,-r:ﬁ-

1 1 '!ﬁ
i = explly -y, |

[ 350 < Mass {GeV) < 500 |

g“

=
.12

| Entries 309174

0.04

0.2

R [ S T
x-upd?r,-r:I‘I-

[ 850 < Mass (GeV) = 1100 |

g“

=
.12

|Entries 157480

|

0.08

0.04

0.2

a L PP EFE AT T
a i 1z 1 B
x-upd?r,-gl‘l-

|
ul
(=]

[ 1800 = Mass (GeV) = 2200 |

f.u
m

=
812

|Entries 34663

|

0.04

0.2

1 1 '!ﬁ
i = expily -y, |

[ 500 < Mass {GeV) < 650 |

B [Entries 215699

=
.12

oa

0.04

.02

K|
|
(=]
(=]
(=]
.
.M
!
=R
&
==

[ 1100 = Mass (GeV) < 1400 |

E‘M

=
.12

|Entries 110529

oa

|

0.08

0.04

0.02

a

h,
-
-
-
=
L

s
=

[ Mass (GeV) = 2200 |

E‘H

=
.12

|Entries 26626

iR |

0.04

.02

|

._,
.
-
of
5
ml

3
=

ubuntu®




[ 250 < Mass {GeV) = 250 |

Faa [Entries 280241

=
-h.1i2

[iR |

2

0.04

0.02

PP EPEPEE PRSPPI B A
8 @ 10 1z & 16
II“PElrI'I:l]F

[i]

ha|
'

[ 650 < Mass {GeV) < 850 |
Fu [Entries 193918

=
.12

o

0.08

|

0.02

o M P B
a0 1z 14 16
x-ﬂpklrl-rzﬁ-

h3)
M
(=]

[ 1400 < Mass (GeV} < 1800 |

R | Entries 73814

=
8,12

oa

|

0.04

0.02

N S R T R
x-ﬂpklrl-r:I‘I-

“Wﬁ“*‘

1 1 '!ﬁ
1= exply -, |

[ 350 < Mass {GeV) = 500 |

iu | Entries 301609

=
.12

0.04

0.2

N R R A R R R T
x-upd?r,-gl‘l-

[ 850 < Mass (GeV) < 1100 |

g“

=
.12

|Entries 153187

|

0.04

0.2

P TR B
] i 12

il Pl
we iy 1

L]
M
(=]

[ 1200 = Mass (GeV} < 2200 |
Foua |Entries 33332

=
4,12

0.04

0.2

i

|
|
(=]
(]
=
-
L

nF:I:::I|||I|||I|||I|||I|||I||||
F [ [ 8 10 12 14 '!6
i = explly -y, |

| 500 < Mass {GeV) < 650 |

3 [Entries 210740

=
.12

iR |

0.04

0.02

|

|
|
(=]
[
(=]
s
.M
£
=R
-+
==

[ 1100 = Mass (GeV) < 1400 |
Fua [Entries 107806

=
.12

oa

|

0.08

0.04

.02

h,
.
-
of
=
=L

2.t
2

[ Mass (GeV) = 2200 |

f.u
-

|Entries 26040

= [
|z
LRI
.08 -
um;‘_,_‘_l—V—
004
0.0 -
n:.l...I...I...I...I...I...I...
2 F] [ i i 12 xp}'i ]
i = eapy -y
._~,|E.|...|...|...|...|...|...|...|
z 3 [] B 10 12 E]

1 [
1= explly -y, )

5<PV<=10

ubuntu®



[ 250 < Mass {GeV) = 250 |
Faa [Entries 61906

=
-h.1i2

[iR |

0.04

0.02

O [ N [ S
II“PElrI'I:l]F

[ 650 < Mass {GeV) < 850 |

3 [Entries 42482

=
.12

o

0.08

|

0.02

o L P B
8 @ 10 1z 1d 16
x-ﬂpklrl-rzﬁ-

h3)
|

[ 1400 < Mass (GeV} < 1800 |

5.14

=
8,12

| Entries 15735

oa

|

0.04

0.02

N S R T R
x-ﬂpklrl-r:I‘I-

“Wﬁ“*‘

1 1 '!ﬁ
1= exply -, |

[ 350 < Mass {GeV) = 500 |
B [Entries 66587

=
.12

0.04

0.2

N R R A R R R T
x-upd?r,-gl‘l-

[ 850 < Mass (GeV) < 1100 |

g [Entries 33658

=
.12

|

0.04

0.2

P TR B
] i 12

il Pl
we iy 1

L]
M
(=]

[ 1200 = Mass (GeV} < 2200 |

Foua |Entries 7257

=
4,12

0.04

0.2

B

|
|
(=]
(]
=
-
L

nF:I:::I|||I|||I|||I|||I|||I||||
F [ [ 8 10 12 14 '!6
i = explly -y, |

| 500 < Mass {GeV) < 650 |
3 [Entries 46437

=
.12

iR |

0.04

0.02

i

|
|
(=]
[
(=]
s
.M
£
=R
-+
==

[ 1100 = Mass (GeV) < 1400 |

g“

=
.12

|Entries 23724

oa

0.08

0.04

.02

|

h,
-
-
of
=
=L

i
2

[ Mass (GeV) = 2200 |

f.u
-

|Entries 5634

= [
|z
LRI
.08 -
u_mﬁ
004
0.0 -
n:.l...I...I...I...I...I...I...
2 F] [ i i 12 xp}'i ]
i = eapy -y
._~,|E.|...|...|...|...|...|...|...|
z 3 [] B 10 12 E]

1 [
1= explly -y, )

PV>10

ubuntu®



[ 250 = Mass {GeV) < 350 |

g [Entries 260241

[ 350 = Mass {GeV) < 500 |
_E¢1.4

[Entries 301609

_Ec1 4
z | Entries 193918

2 4 [] a [F)

[ 1400 = Mass (GeV) < 1800 |

2 |
1214 18 2 4 & @& 10
x-up}Ir,-rJI-

1.4
£ | Entries 73814

2 4 [ a 7]

MENETE AT BT
;}z-up}iir,-rzhﬁ 2 4 & & 1 }cz-uplﬁr,-rzhﬁ

%13
.

BAD:

1.1

1

0.8

o.r

[ 850 < Mass {GeV) < 1100 |
_Ed.d
z

o
=1.3

=

|Entries 153187

ka
TTTT [T I [T I [TTTT

o7

PRI B
7eexplly oy, I

[ 1800 < Mass (GeV) < 2200 |

i [Entries 33332

g
e

0.9

o.r

1 1 '!ﬁ-
i mexply -y, |

| 500 = Mass {GeV¥) < 650 |

g [Entries 210740
1.3

1M dMY

ha
TT T[T T [T T [TTT T

0.8

o.r

[i} 1 =il EFEPEI IR IR BRI BRI B
CHE L T
i = eaplly -y

[ 1100 < Mass (GeV} < 1400 |
_Ed.d
z

o
=1.3

=

|Entries 107806

%

o7

|Entries 26040

0.9

LIy

5<PV<=10

Less than 5%

ubuntu®




[ 250 = Mass {GeV) < 350 |

| Entries 61906

P P B B R
a 1 1z 14 16
x-ﬂpklrl-rzal-

[ B50 < Mass {GeV) < 850 |

a4 .
z | Entries 42482

2 4 [ ] 10

1saxplly oy, I

[ 1400 = Mass (GeV) < 1800 |

| Entries 15735

[ 350 = Mass {GeV) < 500 |

1.4
£ [Entries 66587

»

BAQ

1

0.5

0.5

a.r

PRI PRI N U B I
4 L] & 10

|
2

0.E

PR I P
Feanpily 1

[ 850 < Mass (GeV) = 1100 |

|Entries 33658

_Ed.d-
F

o
ELE

0.5

0.5

ar

B A R L R E R T
x-upd?r,-rz?l-

| 500 = Mass {Ge¥) < 650 |

|Entries 46437

a8

or

[ 1100 = Mass (GeV} < 1400 |

= .
Z |Entries 23724

o
=1.3

=

or

K|
|
(=]
[
=]
s
.N‘
£
=R
-+
==

[ Mass (GeV) = 2200 |

=y
Z
Z1a

|Entries 5634

ka
T[T T [TT T [T7TT

5<PV<=10

Less than 5%

ubuntu®



[ 250 = Mass {GeV) = 350 |

5 Entries 280241
;.15

-

14

1.08

0.5

1) | = I PP IR B

[ 650 < Mass {GeV) < 850 |

_Ec1.2
£ | Entries 193918
RRE

1.1

1.05

0.5

P PRI BN B R
a w1z 14 18
x-npkl:r,-rzal-

=
=
] .
sl
(-] .

[ 1400 = Mass (GeV} < 1800 |

1.2
£ | Entries 73814
;.15

1.4

1.05

0.5

[ 350 = Mass {GeV) = 500 |

i [Entries 301609
;.15

14

1.08

0.85

ask. AH’F’F.JH

_+_

P B
ol

(]

[ 850 < Mass (GeV) = 1100 |

_Ed 2
£ |Entries 153187
s

1.1

1.08

0.85

P B PR BRI B AT |
08 2 4 L & 1

PP B
B

[ 1800 = Mass (GeV} < 2200 |
_Ea.z
z

;.15

1.4

|Entries 33332

1.08

0.95

09

Pl PR BT SRR TR B |
OB=G 3% % W 12

PR BT
Paexpily oy, 1"

1 1 '!5
i = expily -y, |

[ 500 = Mass {GeV) = 650 |

5 [Entries 210740
;.‘l 5

1
T T[T T[T I [TTTT

0.65

[ 1100 < Mass (GeV) < 1400 |

_Ec1.2
z |Entries 107806
15

0.55

0.55

[ Mass (GeV) = 2200 |
_Ea.z

‘i:.iﬁ

|Entries 26040

0.65

5<PV<=10

(zoomed in)

ubuntu®




[ 250 < Mass {GeV) = 250 |

_Ec1.2
z

;.15
14

1.08

0.5

0.5

| Entries 61906

*’l.l. Pl I PR P

[ 650 < Mass {GeV) < 850 |

Fle
z

;.15
F1.1

1.08

0.5

1 PRI B
I 8§ @& v 1z & 1B
x-“pklrl-gl‘i

| Entries 42482

2 4 [] ] i

[ 1400 = Mass (GeV} < 1800 |

PR B
1w ety 1"

_Ec1.2
=

;.15
F1.I

1.05

0.85

0.5

| Entries 15735

Enl||||||||||||||||||||||||||||
L N

10 12 14
i = explly -y, |

[

[ 350 < Mass {GeV) = 500 |

_E¢1 2
z

;.‘IE
14

1.08

0.95
08
0.85

_w Entries 66587
NG

k3
al

L)

Psenpily oy, 1"

[ 850 < Mass (GeV) < 1100 |

g2
z

;.15
" 14

1.08

0.85
a8
0.85

|Entries 33658

L |
] i

P B
Eodb

[ 1800 = Mass (GeV} < 2200 |

_Ed 2
=

;.15
" 1.1

1.08

0.85
09
0.85

|Entries 7257

PP PR R |
a o 12

P B
Psaxpily oy, 1"

Enl||||||||||||||||||||||||||||
L T a

10 1 '!5
i explly -, |

| 500 < Mass {GaV) < 650 |

_Ec1.2

g.i 5

0.5

|Entries 46437

[ 1100 < Mass (GeV) < 1400 |

_Ec1.2

z
2.1 5

0.95
0.8
0.565

|Entries 23724

[ Mass (GeV) = 2200 |

_Ec1.2

‘i:.iﬁ

0.55

|Entries 5634

Enl||||||||||||||||||||||||||||
L 1797

10 1 '!6
x=exply -y, |

(zoomed in)

ubuntu®



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9

